TH6E BHKEREHEE

RE%H%K5 &R KiS YK ST R T5
B®REIEE [RK K JRK K JRK K [EK K
#KkA B 8860 | 8H6HA | 8A6H | 8H6A | sA6A | 8A6A | 8H6A | 8A6H
KB (°C) 26.0 26.5 27.0 27.0 26.1 26.5 23.0 23.0
— AR 130 0 140 0 330 0 1 0
PN (=4 (=4 (=4 (=4 (=4 (=4 (=4 (=4
AREYLRUZDEEY (ne ) — — — — — — — —
KEBRUVZDILEY (ng/1) - — — — — — — —
tLURUZDEEY — — — — — — — —
BRUZDEEY (e D) — — — — — — — —
ERRUZDEEY (e D — — — — — — — —
Affio 0 LIE &Y (g 1) — — — — — — — —
IyERUZDIEEY (me 1) — — — — — — — —
RORRUZDIEEY (g /1) - — — — — — — —
FEIRRVZDIEEY (g 1) — — — — — —- — —-
FILE=Y LRUZDILEY (ne 1) — — — — — — — —
HEUVZDIEEY (g 1) - — — — — — — —
AR UVZDIEEY (Mg 1) - — — — — — — —
TR LRUZDIEEY (me /1) — — — — — — — —
XAV RUEDIEEY (ne 1) — — — — —- — — —
HILSH L T FI ™ L% FRE) (mg.1) — — — — — — — —
REEBY (g 1) — — — — — — — —
1Bk (mg 1) — -— — — — — — —
1, &-CA XY (mg 1) — — — — — — — —
VA1, 2—=PHYRAATFLYRUMSVRA—1, 2—JYOATF LY (g /1) —_ - —_ —_— —_ —_— —_ —_—
SHOa*8Y (me 1) — — — — — — — —
FrSHO0TFL (mg. 1) — — — - — — — —
tUZEETFLY (g 1) — — — — — — — —
R (mg 1) — — — — — — — —
fEAA KAl (mg 1) — — — — — — — —
TIARIY (ng 1) 1.7 33 1R 4.1 25 1R — —
2-AFJLAVRILEA—)IL (ng. /1) 1R 1R5% 1R 1R5% BN 1R — —
LA R EmEEE] (mg 1) — — — — — — — —
BIEFREE R — —— — — — — — —
Jx/—)LEE (mg 1) — — — — — — — —
EEEERRUEHMBEZESR (ng1) — — — — — — — —
Bt AA> (ng. 1) 45 8.2 46 6.9 46 7.0 6.1 6.3
HiW%E (TOCOHE) (mg.1) 0.86 0.41 0.78 0.45 0.77 0.47 0.3%i% | 03K
pH 7.17 7.14 7.19 7.22 7.24 7.34 7.06 6.97
K — BEEEL — BEEL — BEEHL — BEEHL
B& EELL | EB4GL [ 284 | BE4L | EE4L | E84L | EE8EL | EE4GL
BEE) 4.0 0.5k % 36 0.5k % 6.1 05k | 05k | 05K
AE(E) 1.0 0.2k % 0.8 0.2k % 3.4 0.2%k% | 0.2k | 02K
TR UIEIES T (mg. /1) - - - - - - - —
BXEE(mg 1) — — — — — — — —
RILLTILTER (mg.~1) — — — — — — — —
& O OFEEE (mg. 1) — — — — — — — -—
THOOEEE (mg. 1) — -—— — — — — — —
k%0 A EEES (ms. 1) — — — —- — —- — —
Haazh)L L (mg 1) — — — — — — — —
JOECHO0A3 (mg./1) — - — — — — — —
oJO0ES00A532 (mg. /1) — - — — — — — —
JOERILL (g1 —- — —- — —- — — —
BEUNAAZ (ne /1) — — — — — — — —
FUoEZTHERmg./1) — -—— — — — — — —
FILS = Ls (mg 1) — — — — — — — —




